"EXAM 1
CALCULUS AB
SECTION I PART A
Time-55 minutes
Number of questions-28 ’

A CALCULATOR MAY NOT BE USED ON THIS PART OF THE EXAMINATION

Directions: - Solve each of the followmg problems, using the available space for scratchwork. After examining
the form of the choices, decide which is the best of the choices given and fill in the box. Do not spend too much

_ time on any one problem.

In this test::

(1) Unless otherwise specified, the domain of a function f is assumed to be the set of all real numbers x for which
f(x) is a real number. . ~

?) The inverse of a tngonomemc function f may be mdlcated using the inverse funcnon notatlon f or with the

prefix “arc” (e.g., sin x= arcsinx),

If f'(x) = In(x - 2), then the graph of y = f(x) is decreasing if and only if
A)2<x<3 B) 0< x ) 0<x<1 D) x>1 (E) x>2

2. For xz0, the slope of the tangent to y = x cos x equals Zero whenever
“A) tnx=-x %—Ciﬂj d'[x) . ¥ use Pmc uc’f‘ Y’Mjﬂ 'P{? + “[)G’L
B)] tanx=1

(C) tanx =x

‘D

j '/»osx%— % (- Smy} |
(D) sinx =x O= cosX~- )égznx
(E) COsSx =Xx }(m;wsx

5(-#,4,\)(. =

7~ ,
“éﬂ/lx b —I— . Ans
X : v
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\ » | e
Ispe oF foe seqment js m=-2
. 3. The function F is defined by . e Jm T =4 o |
E§ ' - J ...... grph of e fncion o7
gi F(x) = G[x + G(x)] . _ \ ok ‘s fY' ' : : 4
| S VX PR SRS [ </ 1.1 AN CIE MR - - JRY A1 .
i where the graph of the function G is shown at - ;‘o & G
the right. 3 1) 1& @ |
| N\ i v 5 Vo .*df“ ¢ ;? G mraf
The approximate value of F'(1) is NI FR Y Y j;;!i N uO.J 7
| wi gy s e R e
3 0 ———i—i— @
2 £ F( = 1:60) 4 P2 56 T 8 x
e AP = e 7 F13-G [13]-(1e-2) @
©) -2 F6) =G x+ G)] -

(D) -1

NP R QW) (- @
i -2 F(x)z@fwé(ﬂjfa(“@&)) v ( ) (f> o |

o ) = (5D
FE9=GTi+ G00]-(61) Fy=2] ‘

J

Yo

' ; @
6 | . ;

4. I(-1-+2x)dx; §§ + jypﬁtx - ﬁ(y ¢ ‘Q—Xz %/AA-/né‘:ﬂ[%) c)
2 \¥ ey &é’ | c
(A) In4+32 1 %(5_) +3 c,

= ﬁ/x/ + X c,
(B) In3+40 4, [f C)w
ol . 2 +32 j
L(©in3+32 Al (5 (/&9\4‘21) c
(D) In4+40 | -
(E) In12+32 ;/ﬁ‘é‘*ﬁé“ﬂf(”‘{' ¢
/s Ans

= A4 7 +39 C C{
Domain (0 62 c,
5. -Arelative maximum of the function f(x) = (ln x) occurs at ;y =0 §~ ﬂlx =0 )!220 ¢
X o 4 Anyk = -
e * Q,JZ are Z‘”"”L""’L "‘4 27 S R A @:
g {6 Stqn ’zh{ A / / A(’Hbthfe /(’S(Z X € =e '.’M'md )
© 2 J" <, ppis y s Lt ,{ﬁﬂf&%
D) e %&) = 2NE) - (h) (1) X = | A Y .
2 s —
/’Eﬂe x? = o5 e , e S
R °c e o
"’ / X):: Qg«x - é&,() : /,/7 m Q;
L oty =2 Ans -

/ -€ =

/f(%) Sox (A=A -
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No Calculators - EXAM I Section I Part-A- L’ - / Q)( 3 l 3

6. Use aright-hand Rlemann sum w1th 4 equal subd1v1s1ons to approximate the integral

- J'Zx 3 dr. i Tacofdy x| gla+ t.g(r)ﬂy(bjw-j(})
| =
” A) 13 ‘ ) v K
™ | =134 1)+ 1y +1(3)
" (B) 10 ,
" Ww .
[ (© 85 A3 _
o = @ j(l):, e .
' E) 6 7(2): |
7(5‘)22 Ans
2 D) w
=§ 7.  Anequation of the lme tangenttothe graph of y = O+ 3x2+2at 1ts poirit of inflection is /‘P ﬂ) 25
=@ (A) ~}’——3x+1 - y - 3)( -1Lé)( POM“I' (.. Z[..) (—*/) C/) "'3(‘-1) w0
9 (B) =-3x-7 .”' ) .':»./ 47
- C) y= 5 ' T '/ -
9 @yt T jjw%x»x.) - 3- g:,j
Y *l | {~4==3x~3 An
Talpor | JTEDS e
= ey B
=) 8. [cos@-2myar= - . U3~y < Q .
Q (A) sin(3-2x)+C o d-u _\ _‘2 R 62. COSUAK
g "(B) -sin(3-2x)+C o = | -
- -—sm(3 2x)+C 06(: &4_ : = "'.’. S;ﬁb& ~+ C.

;@ @f——sm@ 20 +C T
= . CDS(.»('EJE_ :/’; S/r\(g",ﬁx)—)-c ]
'@ : . ‘ ‘.

® —-5—s1n(3 -2x)+C

; ' " Copyright 2008 Venture Publishing




4 " EXAMI Section I Part A Multiple-Choice

2
9. Whatis Lim 2% *29
o 4% +3

!

(A) % ‘ﬁ (B)% ©) £ D) 1 (E) The limit does not exist.

W Fav [i'fm"'f @ /,p m.ﬂ(;g,h

/s
%"\ VX242 . JAx

XJyoo

<t 3 4x

AL ]
4«

Ans

10. Let the first quadrant region enclosed by the graph of y = l and the lines x =1 and

x = 4 be the base of a solid. If cross sections perpendlcular to the x-axis ani sermcu‘cles’/ the
volume of the solid is

S e A g et st

I'ﬂ‘pl’ﬂ','?_ Jompaas &&j"eer Jotueon ﬂumaﬁr/;/%am;m’ﬁv |

¥ A= %[Am]
L1l L gy
=% x2
{
:J};i& — i -
‘l ~

11. Let f(x) = Inx +e ™. Which of the following is TRUE at x =17

@ f is increasing | 4‘ (X) 1 + ")

(B) f is decreasing

/ (C) f is discontinuous | (X’)" L
.. TN '—52

(D) f has a relative minimum

(E) f has a relative maximum py
¥ e ca LN=1_1_e-l
@[,,w/mﬁ’ holie s Lol T _*-—~e >0

g/ Waﬂu,a’f’a"j/ S -{‘(1} >0 7#« A has Ans
(IB | /)057‘/'3/6 S“//oe, QAJ ﬂﬂ%"&-

M( réasing ~
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No Calculators ‘ EXAM 1 Section I - Part A ' 5

F"(() > F(2) since wun is (k) 1 s Ans

. 0 +t .
I. FO)=2 < \, /

VL. F(2)< F(6) l
VI F"(0)=0 2 ¢

(A) Ionly (B) Il only (C) I only ‘ (D)l‘IIand I only (B) L 1L,
o . °2 ’ F”” ‘ - 0-3: 3
2t - | Fhy=fa 76 2B
R = 0 X)= 4

Y,,'*’c“ t )= x . ~/+><‘*

F'?x)f-—- o((+*) -Q{ 4?) /, J =Y v

3t g F(0) (D]

13. What is the average (mean) value of 2¢ 3t + 4 overtheinterval —1<¢<1? ‘ ‘

f

(A) 0 #/7 u. Mu %afem = f 1A,
® -——Jaf UL

I-(-1)
@

; [ 1O Pry- (| ‘[")"‘J

s [£- It -144]

| !
D) 4 - | ~£h !.lzrgl]
(E) 6 - 4. “'§"‘f‘ %] | 2 - 3
- i C

14. The slope field for a differential equation DO

PRI RR: NN EA NN

7 =f(x.) is given in the figure. Theslope . Z// 233N E 727233\

field corresponds to which of the following AAASNNNN ;;;::‘\‘: NN

" (A) z—tanx-secx Y IIRENNN

differential equations?

o W/ /7 ~\\\
w/ /o ~N\\\
/7 /o ~N\\\

777~~~ N\\".
P e N Y
/ 7o~ N\ \~

) /N N\ \

(B) dx =sinx . /
© E—-cosx x/od*?lém é(ﬁ&ww ‘{ /az KZM
(D) %= —sinx yOsemlles sunx rzf

(E) % =—COoSX

Copyright 2008 Venturé Publishing
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. _ (0] "'om , l' /"Ib "*d-lf | 6 -’-l & 7‘@ /M%AOC/( [

5. Whatis lm3Ely A Rl priond: ¥eonjugs Ty
1 x -1 Im 2t x4 (X Oy

’ X - : AR

(A) 0 /NE 3l o ,___i X~ T4 (X/r{(ﬁ_“) Cor

1 X P -

@ 2 7x-1 0 Dim 1 -1 o
© 1 I 3% ¢ I IaZETI PTR E )
-——9 = — =l C'

® 32 O k|2 .

~ (E) The limit does not exist. Cor
=

Ans L=

<

C;,?{

16. If y=cos’ x —sin® x, then y’ = )«M“/ﬂ fa/C, c, -

® -1 [Cosx [Smx] o&f[j&)] F156] =

B) 0
(C) =2(cos x + sin x) = ‘Q [ Co 5x] ( 51"‘)( dz[f mX | COSXK g
D) 2(cos x + sin x) 7 o 'O?S/hxco:;\( _ 1}75/’/})(605)( é
@ —4(cos x)(sin x) c,
| ' 2 ~s/axcosx ?_ns -

17. The area of the first quadrant region bounded above by the graphof y = 4x° +6x — 1

J#x +x - -o{x

between the values of x =1 and x=2is

A /4»’?4.
(A) 32-In2
(B) 30-In2
(C) 24-In2

™%

€) 21

= z
—_— %L-IVJK{ >

#

* / C
= d+3AY-B2-[1+3- 4] -
-:M-H&-%Q-L)L | Ans -

—
-

~

X

SNANAN AN AN Y

L
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No Calculators ~ EXAMI Section I Part A 7
/3> 18. IZ-? dx = ’ko[a'ﬁbn [ /4)/7 s fon ( yof‘éo"' dod- “’é (N e»{
-\ - ; _ f/dr/
v - X~-2
- (A) ~Inlx-1+C ' + "'.'_" \f—-‘ u:x-l A=
' - g T -
B) x+Injx-1+C @X@( U‘_X_’_‘Z‘ é/
](C){x-1n|x-1|+c = .
i
@) x+Vx-1+C ‘ }J““’l jl s
- 78

® x-x-1+C ~u-.£.//+c

=x~[-h x4 (.

. Ans
= C| Al
-~ Weven function K

19.  Suppose that g is a function with the following two properties: g(-x) = g(x) forall x,
) and g’(a) exists. Which of the following must necessanly be equal to g’(—a)? '
g R i , 1 _
o W@ [ ®-sw@ © —— D) -— (E) none

. ( ) g(a) v

.|

¥ exa ax
M gCa)=-q(a)

5

= ¥41-2)=-2(3) = - Ans
2 g6z A y(2) = 2(2)> 4 Bl
2 20. An equation for a tangent line to the graphof y = Arctan§ at the-origin is: '-ﬁﬂam any = i+ s
, i o , U
‘ x—-3y = » :j___ ‘ ' %
= @x A I+(3)° |
- ~(B) x-y=0 3 j’j;:ﬁ’\(x~)8\> |
P) {
o © x=0 (0)=_3 !
= - =2 | JTo=5(x-0)
g ‘D y=0 |+ 0 3
, o
. ' (E) 3x-y=0 , f)“ §)<
- point: (0,0)
- , S Y=
s ope. M:l‘ T A~ Ans
ST s
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Multiple-Choice

21.

(A) Oand 5

x*+4 for 0<x <1

If f(x)= {

16 — x elsewhere

J(lerU(aQX +

(B) 5and 10 6

3
(-x X

3
then J- f(x) dx is a number between
0

1

\ 3 v |
! © /10 and 15 x5 2 9
Zly | X |- 6(3)-~~(y-1
©) 15and20 3 x] * éx__;] = 6 @2)
(4]
| !
(E) 20and25 1 (§-1_, 1
3t -t & g 3 376z
J (2- 4
= Ans
C
. Y
22 -‘i(lne3")= » ¥ fne'= w
dx ap(z
ni z3)=3

®)[3
©) 3x
® —
® -

Ans

23. If g'(x) = 2g(x) and g(-1) = i, then g(x) =

(A) e2x

B) e

(C) ex+l ’

' (D) e2x+2

(E) e2x—2

4

3=y

It =20-)+ ¢

O=-d+L

4

(~IJ 1)

2x +_2

e

/j/: €2><fz

’ _ Xt
1m

Ans

D

Copyright 2008 Venture Publishing
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No Calculators EXAM [ Section I Part A 9

24.  The acceleration at time # > 0 of a particle moving along the x-axis is a(f) = 3¢ + 2 f/sec2. If
at ¢ = 1 seconds the velocity is 4 ft/sec and the position is x = 6 feef, then at ¢ = 2 seconds
the position x(z) is :

N e / .
W ®Uft ©ne OB @® s
Vi) =4 VC«é:)=Ja(f)At | 4= 205+ | X’(f)=J3t +A+3 4t
X(1)= 6 i I I
(()) o | V()= [3{%1-02\‘, yIC - z‘f«*% Lete
X(3)= ., : (=5+l+1 +c
2 32 . 2 s
VEe) = Saptrc |92 3tate s lyoe

. ‘ — . - 3
- o, JOI T =T (=345 4
25. The approximate value of y= +e* at x =008 , obtained from the tangent to the 2 2V
graphat x = 0, is :

(A) 2.01 -)k’l//lemf ?/)rDY/Mﬂ’}/UV‘: 7‘ P°M+: (012>
. B yr "M !
®)] 2.02 4) Fiud ;'f"* j"e %’““ / Slofe: m=g v
(©) 203 Df‘“} 1 e -2:46(_0)
X i, "j 4
® 204 j:,(3+e)/ o = dxt
®205 Y Nl :7 | o
| 'S - ( |
q'=1(3te") () (0.08)= z(008)r2
J U "/‘z_ - .‘. .L.. ~ | j : * Ans' :
IO ED RO = 0.02+2570)[B |
26. Aleaf falls from a tree into a swirling distance
wind. The graph at the right shows its 20 b et
vertical distance (feet) above the ground ] ‘ Y/JPQ,
plotted against time (seconds). 15 J/ 5 |
According to the graph, in what time ,
interval is the speed of the leaf the 10 i
greatest? /\ : i
(A 1<t<3 _ : , ?
B)3<t<5 ' 0 ’
-0 1 2 3 4 5 6 7 g o9
©) 5<t<7 .time
D) 7<t<9

(E) none of these

Copyright 2008 Venture Publishing




10 EXAM I Section I Part A Multiple-Choice ‘;’Q
27. Water is flowing into a spherical tank with 6 foot radius at the, constant rate of 30z cu ft per :fT
hour.. When the water is & feet deep, the volume of water in the tank is given by dv -
_ 2 s - 3
- 5, = Son . )
What is the rate at which the depth of the water in the tank is increasing at the moment when T
the water is 2 feet deep? | - 7 : ) .
(A) 0.5 ftper hr ,' !__
B) 10ftperhr | AV A ) 1A -
'. (B) 10ftperhr { - IQWL(A‘%)““?(E)I\Q(%/‘) -
] ©) 15ftperhr | AT /N (JE o
| (D) 2.0t per hr 11/ Ak 2/} -
J |30 = n(0)( ) - () =
I (E) 2.5 ft per hr y L& o
. i 4 z
URolucted Rates: |07 = Mm( )~ dn (4 ) o
_h? | _ I o
- g;(/g‘”l\) 30‘(7 ~£O7‘{(ﬂ) G
-
| V= boh*-T}3 | 307 _dh -
207 Jdt | Ans <
l cl G
28. The graph of the function f(x) = 2x%® = 5x*/ is increasing on which of the following &
intervals. . O;,,
L l<x I 0<x<1 I x<0 .
(A) Ionly (B) Il only (C) I only (D) Iand II only ! (E) { I and I1I only ' =
st . B <
*/ ﬂf’en\m‘{?lfﬁ‘kesi, ,FZ) |O)<__ ‘O iOX-/D = 0 _?x 4=0 o
» ! X)= - ~
a) fid {1 I X=| . | x=o -
Y set fix)=0 2N A it
o) fid critiad IML:A + 1 + B
| p() Mw& Sﬁ" ,gM— o i c.
| LY, 2/ 3 /
{x) = A b5y Alx) rs "‘”W”y (2,0) V(| 03) C
. ) ~
| ~1 LI
: ’_F/- & %/3 2 / 3 } K -
/x) =1-3x7- 573X b
__p ’( 1° X2/3 1o Ans o
x) =3 3Ix'% E] -
Copyright 2008 Venture Publishing
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EXAM 1
CALCULUS AB
SECTION I PART B
Time-50 minutes

e Number of questions-17
, 9 A GRAPHING CALCULATOR IS REQUIRED FOR SOME QUESTIONS ON
E—1 ’ THIS PART OF THE EXAMINATION '
o Directions: Solve each of the following problems, using the available space for scratchwork. After examining
@ the form of the choices, decide which is the best of the choices given and fill in the box. Do not spend too much
N 3 time on any one problem. -
i s In this test:
g— , (1)  The exact numerical value of the correct answer does not always appear among the choices given. When this

happens, select from among the choices the number that best approximates the exact numerical value.

(2 Unless otherwise specified, the domain of a function f is assumed to be the set of all real numbers x for
which f(x) is a real number. : '

(3  The inverse of a trigonometric function fmay be indicated using the inverse function notation f 1 or with

. =1 s
the prefix “arc” (e.g., sin x = arcsinx),

1.  The function f is defined on the interval t—4, 4] and graph of f
its graph is shown to the right. Which of the & S
following statements are true? [ 2 Y,
' y A Y !
L lmf)=-1 False:yy) f6)=-2 "
v 1 3 32 i \\ 1 2 i3 i4
-1

L G fCRAD e Teue: £12)=v !
h—0 h

ML lim, f(x) = f(-3) =1V True

(A) Ionly (B) IIonly ‘ (C) I and IT only (D) II and III or_lly E) LI III -

Ans

2. For f(x) =sin>x and g(x) = 0.5x> on the interval [-5. %] the instantaneous rate of
change of f is greater than the instantaneous rate of change of g for which value of x?

= () -0.8 (B) 0 @ 0.9 D) 12 (B) 15

| “C/KO;?) _>f] '(Oﬁ’)

Copyright 2008 Venture Publishing




12 EXAM I Section] Part B Multiple-Choice

3. If f(x) =2x* - x> and g(x) = x? — 2x, for what values of @ and b is
b b
jf(x)dx>jg(x)¢x? ,
a a

I ga=-landb=0 IL a=Oandf=2"
(A) Tonly
(B)] M only .

(C) Iand Il only

(D) 1and III only ﬁ&)&w
w\ ~

I @=2and b =
]
|
i

j'p&)ﬂ* 0‘[[( f-f[y)ix st

(BE) LILIII

d2
4. Ify —3x—7the —-_.
dx*
-6 3
(A) - (B) ©3 O P
¥‘Im l.m‘ B.'FFMNLM'{!M 0_!3 3 _3 - d,z] 2
3 -3x= 7 o aj N
gj(;g) 3 0 {-2 J,) Ans
O - E
5. The graphs of functions f and g s graph of f g graph of g
‘ are shown at the right. . .
If A(x) = gLf(x)], which of the 1\ 1\
o following statements are true about the , ) I
function h? , | \ /
X1 moy=4. | L .
v/ 1. hisincreasing at x = 2. 0 1 2 3 4 5 o 1 2 3 4 5
V' III. The graph of & has a horizontal tangent at x = 4. :
(A) Ionly (B) Oonly (C) IandIIonly (D) HandMonly (E) I, I, 11X

A= gL00] | 1)
L(O) :j [f(a)]

[x) [Qx)] £1%)
(4)-j [rew) A 14)
_j [,2] {14) D

=Tl 46)
h(2)=g [4w]-F12)
=7[1]-%1a)

N\
L\[ 0) = © neJ{ﬁW R\ ﬁejdt‘l’lﬂ = Q- i
s/ of € f’a{a& -

s

: ‘:\Q 0 ‘;\ S ‘2.

NN OO NN TN NNNNO000000CECT

/«‘\‘\

| (
v O O¢
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6. The minimum distance from the origin to the curve y = €* is
(A) 0.72 B) 0.74. (C) 0.76 ' D) 0.78/ - (E) 0.80 .

""f““ e Jliva(ooy | dl)= 2t |
4 ol e J—(; \463 03 : \}xl+e2x _ DQ%(?????

=V "’Q/ | _ O=X+e2x ' iO‘??i
| af (™) " | .-

\ Ny X=w4y

0= itee) @‘*“e) lorag) T 18

=lt-x 7. The}area of the ﬁrst quadrant reélogbounded by the y-axis -axis, the line y 4 -~ X and the graph
) ‘of y = x — cos x is approximately =~ —
(A) 4.50 (B) 4.54 ~_(©) 456 (D)_ 4.58 (E) 5.00
- | 0137 1.65% |
Aex | 4-x-0d +g “#-% = (%= o) I
/ C 0 0.734
Jrim N\ = 4538 ~fucy
7 loayg
- {
X 605)( Ans
_ owtypl=o (B
8. The graph of y = x* — x> — €** changes concav1ty at x=

A) —0641' - (B) -0531  (C) 0421 = (D) 0311  (B), -0.201

jh »xe

'j L(‘)( Qx 262
j = 12 Q- 4
C) = ‘Q'KZ"Q*Z?LQZX

Copynght 2008 Venture Publzshmg




14 EXAM I Section I Part B o Multiple-Choice

9. The rate at which ice is melting in a pond is given b % =1+2", where V is the

volume of ice in cubic feet, and ¢ is the time in minutes. What amount of ice has melted in
the first 5 minutes? '

(A) 14.49 fi3 (B) 14.51 fi3 ‘(C) ‘14.53 ft3 (D) 14.55 ft3 (E) 14.57 ft3

5
(;4/houn'1t Jg Tee = J' WA,L
, o L

B o min = |[4.53 47
min

N
PR T A N oy s 3 A S R S 1 % % i
[ ¥ & ov A : Bov %% 0 B R R o B A
PIRE SR S TS SRR PR G SENNE. G, SR G SR e e, P

10. ion shaded in the figure at the right is hof ve G

rotated about the x-axif. Using the Trapezoid _graph of y=7£(x) @

/\ Rule with 5 equal subdivisions, the approximate 5 -

. & volume of the resulting solid is 4 2 &

_, . 1 Y 3 N .

L Disc Mot () 23 Acen(frapeanid) = 5 A,+A2] » @

| B) 47 Toperdd Rdax ¥ . @

| RM’ c(")'o ' 127 - f 2 ﬁ.*ﬂ;:lls-ru,,ﬂl,- : - g;,
i (D) 254 +h, ] . o |

(E) 400 . 1[ 2 2 2 [y Vil — "
| ¢ =5 | X+ A3+ a(4)+2(3)+ 2{9)411 =¥ =4p. g Y
\/= 'rrf@(x\]ih/ﬁ /o’l \é

= m.[Yo.s] ~(27.23 N o\

11. A particle moves along the x-axis so that at time ¢ 20, its position is given by e accele m*’ on 7 OC’:’

x(t) =@+ 1)t~ 3)3. For what values of ¢ is the velocity of the particle increasing?;_“ 1%
(A) all ¢ B)0<t<l C)0<t<3 D) 1<t<3 E) t<lort>3

19O NN

Ans

Qe e

-
=
=

o
in

V€
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ﬂ;@ Calculators EXAM 1 Section | PartB 15
(} 12. Let f(x) = l)n:ezl for x >'1. If g is the inverse of fthen g (3) =
3 OF ®1 ©0 ®a1  ®-=
. :/Ae'z’( 1 4\( ) 2x
e ( 3 x - x
s £3):3 403 3
Ax ’
) Iz = .p - 4(X-«)~(ﬂx)(l -
RO - (x) oy g/éZ /3{
’ﬁ-a‘-@cm:::i'. ORI TPV - Gyt
@ X=3 f/XB,( )"
o B
Do \‘?(3}, =2,
o (3-)" 47 3 =

13. |2 e;',z" dr

(A) x‘—‘e"z w;c -

.2 \ -4)(.2
B) x-¢* +C j‘l _ (2)(6 XK
© x+e™ +C o
@) € +C .2
® e +C SMX ~ | dxe Ax

fx + e + C

2 |
\'X+€'x+c; f C

Copyright 2008 Venture Picblishing




16 EXAM I Section I Part B ‘ Multiple-Choice

. . e . ey _ (x=D(x—4) ) 4
14. Suppose fis a function whose derivative is given by f(x)= YT Which of the

following statements are true?

I. The slope of the tangent line to the curve y = f(x) at x=2 is -8. Fﬁ/j{
II. fis increasing on the interval (1, 4). False J‘P ’s ‘tpecréd sz’y_
III. fhas alocal minimumatx=4. True_
(A) Ionly (B) I only @ﬂl only - D) II and III only (BE) LIL I

YCH"""C-«} ]_}a?w“ji sed "('\l()():() = x=I| Xzt
J

S‘ibfe. {i }_/ ‘{
S"jh i ! ' >
! 4
fray= @0 (0 g
+2* 7 Tz T8 -
C

15. Let m and b be real numbers and let the function f be defined by
1+ 3bx + 2x* for x <1
f(x) = {

mx +b forx>1. ¥
3 vatine

If £ is both continuons and differentiable at x =1, then set J ?”"“kf’ f 48%4/{

A) m=1,b=1

B) m=1,b=-1
©C) m=-1,b=1
D) m=-1,b=-1
(E) none of _the above

Set eoputions wod | get devivadives fi@»\ﬂ atx=|
‘6 . X=| ]

B 1Y A
+3bx+ 2= mx+ b | 3L+ 4(1) = m Shatt=m
[+3L%2:m+é . ‘ 3(")‘7‘4‘:”}

342l = A |
EACISERE B

[~1=E]

)(“ SE'}' !Qfecewz’.ze -{)unc'ﬂb\«s' Pﬁw
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Calculators N EXAM I Section ] Part B 17

16. Suppose a car is moving with increasing speed éccording to the following table.-

time (sec) | O 2 Z 1 6 1 38 10
speed(fisec) | 30 |36 | 40 | 48 | 54 | 60

The closest approximation of the dlstance traveled in the first 10 seconds i is

@ 150t %, T
 (B)250ft [/MQMZM +AJ
(C) 350 ft o |
[ @son 2 [3"”‘3‘)“(%)\‘2(4?)1?(gq)ﬂ(,b)]
B 550ft _
ST =4y

—

‘tfe‘Zoug /4 viX !

_ Ax 4
The value of F(2)+F’(2) is ' 2
: F—(X) J wt
(A0 , Sinf 1

®) 1 | 2 ”{{ 5’ F&) SM(“)
S ©F | V(l):f;ﬂ(ﬁ)p(f{‘r‘[ s f;f,:

o A OREUC/ N

v | | = .z ) ,

F(2)+ FJ((Q) = -5+ |
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